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(iv)  FTFAR B T TAT 8/

General Instructions :

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections —
A, B, C and D.

(iii)  Section A contains 8 questions of 1 mark each, which are multiple
choice type questions, Section B contains 6 questions of 2 marks each,
Section C contains 10 questions of 3 marks each and Section D
contains 10 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qs A

Section-A

JTGEIT 1 G 8 % Y% Jo7 1 HF FHT & | J97 &1 1 & § 4 9% ¥97 & o780 &R
faeeT 177 71T &, 574 & #acT T# §&l & | G&l laeheq Jiu/

Question numbers 1 to 8 carry 1 mark each. For each of these questions four
alternative choices have been provided of which only one is correct. Select the correct

choice.

1. e o fie-fiag o = w91y S|t S, O S 9TEl WO SHEET o 3T shl

EIT&IEFCIT%:
1 1
(A) % (B) 5
1 1
© P (D) 7
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If two different dice are rolled together, the probability of getting an even

number on both dice, is :

(A)

(B)

©

D)

1
36

N | =

A= O~

TS WG ol AR o WY TSI i T, I8 fH & A1 60° Tl IV 471 © | s Tt
1 Taferg R @ 2 Hi 1 g W 2, q Hiedt hit g (A H) 7

(A)

(B)
©

D)

4

J3
43
242

4

A ladder makes an angle of 60° with the ground when placed against a wall. If

the foot of the ladder is 2 m away from the wall, then the length of the ladder

(in meters) is :

(A)

(B)
©

(D)

4

J3
43
242

4
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aTmeRfd 1 H, QR fIu 7w i it v 3wl Tonl @ ® | 99 W fog T W et
Fd 8 | g T W i< 78 woet War QR 1 fig P W firerdht 2 1 3fe PT = 3.8 Tnft 2,
dl QR i arTs (T H) ©

A) 38 B) 7.6

© 57 (D) 1.9

In Fig. 1, QR is a common tangent to the given circles, touching externally at
the point T. The tangent at T meets QR at P. If PT = 3.8 cm, then the length of
QR (incm) is :

Q P R
(A) 3.8 (B) 7.6
<O 57 (D) 1.9
4



4. 3G 2 H, PQ U7 PR g O aTcd 91 sl & T W@ & | 9 LQPR=46° ¥, I

ZQORHIHFR :
(A) 67° (B) 134°
(C)  44° (D)  46°

In Fig. 2, PQ and PR are two tangents to a circle with centre O. If ZQPR=46°,

then ZQOR equals :

Q

R
(A) 67° (B) 134°
(C) 44° (D) 46°

30/1/3 5 [P.T.O.
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Tk THTAE AUt % JoH ofH Ue, HEI: 3y — 1, 3y + 5AAT S5y + 18, A y FIAHA R

A -3
B) 4
© 5
D) 2

The first three terms of an AP respectively are 3y — 1, 3y + 5 and 5y + 1. Then

y equals :
(A) -3
B) 4
© 5
D) 2

SIS 45 GHt AT A 4 FHY AT €1 % Teh 34 S i UEa R 6 Tl A At
3 TS S T | AT shl T 2

(A) 3
B) 5
<o 4
(D)

The number of solid spheres, each of diameter 6 cm that can be made by

melting a solid metal cylinder of height 45 cm and diameter 4 cm, is :

(A) 3
B) 5
©) 4
D) 6



7. TS 1Y 30 § Y AGTHAT Th H&AT I TS | 38 HEAT o Tk A9ST T o g
1 ITRIRdT 2

@ 3
® -
© 5
® o

A number is selected at random from the numbers 1 to 30. The probability that

it is a prime number is :

@ 3
® -
© 5
®

8. Il g A(x, 2), B(-3, —4) A C(7,-5) T &, A x FIAA R :

(A) -63
(B) 63
© 60
D) -60

If the points A(x, 2), B(-3, —4) and C(7, — 5) are collinear, then the value of x

1S :

(A) -63
(B) 63
© 60
D) =160

30/1/3 7 [P.T.O.
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Section B

Yo7 G&IT 9 & 14 T J9% J97 & 2 3% &/

Question numbers 9 to 14 carry 2 marks each.

10.

11.

12.

30/1/3

g g O aTel T g1 T foreft simer foig P @ &1 Tef T@md PQ 9 PR 39 Weh Tt
S foh ZQPR = 120° &1, @t frg FIST f 2PQ = PO ® |

If from an external point P of a circle with centre O, two tangents PQ and PR

are drawn such that ZQPR = 120°, prove that 2PQ = PO.

forg hIfTT for o it 31 Tmiax wost Ymett & wyt fogedt =i firem aren Yarere 9
% ohg O B ST § |

Prove that the line segment joining the points of contact of two parallel

tangents of a circle, passes through its centre.

Teoma wHietor 24 + ax — o> = 0 &l x o foe g Fifsw |

Solve the quadratic equation 2x* + ax —a” = 0 for x.

w1 - feshl =t 919 ISTAT 2 | FH 9 HH Tk 9 A Sl ATk
1 FhIfSTT |

Rahim tosses two different coins simultaneously. Find the probability of

getting at least one tail.



13. & 3 H, TH 99 & =gdiel OPBQ % 3id@id o1 Uk @l OABC ® 1| 3R
OA =20 Tt B, T STfehd W T &% J1d shiToT | (= 3.14 )

Q

In Fig. 3, a square OABC is inscribed in a quadrant OPBQ of a circle. If
OA = 20 cm, find the area of the shaded region. (Use n = 3.14)

Q

14. T GHIGR Ui T YW S 8 qUT A" Ug 65 B | Ife 39 il & el uel 1 A
730 B, d EehRT ATE3TaL J1d ShifSTT |

The first and the last terms of an AP are 8 and 65 respectively. If the sum of all

its terms is 730, find its common difference.

30/1/3 9 [P.T.O.
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Section C

JoT GEIT 15 8 24 T J9F T34 3 3 31 8/

Question numbers 15 to 24 carry 3 marks each.

15. ST 4 H, 12 GHT 9[S ATl T G9a1g HYS ABC % {id U I Eiel T &
e &g 0 ® | 3ia:ga A B 3@ fifse qen swifra W &1 &awa 719
I | [ 7= 3.14 71 /3= 1.73 & |

In Fig 4, a circle is inscribed in an equilateral triangle ABC of side 12 cm. Find

the radius of inscribed circle and the area of the shaded region. [Use n = 3.14
and /3= 1.73]

30/1/3 10



16.

17.

18.

30/1/3

Uk JhITI-EF % gl IR 2 et Ut H 38 YR ferd ® T gFi Stere qon
RIS -Edr Tk & 3@1 1§ 2 | TheT-Ear o IR O gl STeTsi o STa-H I 60°
adr 45° 2| AR yeRTI-Tary A FAE 200 G 7 A ST RIS 6 i gl T
I | [V/3 = 1.73 fifvm

Two ships are there in the sea on either side of a light house in such a way that
the ships and the light house are in the same straight line. The angles of
depression of two ships as observed from the top of the light house are 60° and
45°. If the height of the light house is 200 m, find the distance between the two
ships. [Use \/5 =1.73]

Teh for™ 3709 @a | 10 Y =31" ATl 3R 2 H) e U dAHTeRR dehl hl s
T8 20 UH) I Teh U189 T AT O S ¢ | Ife urgy § ur) 4 forrt i s h
1A © L T =, a1 Toha T | 2ohl I sy S ?

A farmer connects a pipe of internal diameter 20 cm from a canal into a
cylindrical tank which is 10 m in diameter and 2 m deep. If the water flows
through the pipe at the rate of 4 km per hour, in how much time will the tank be

filled completely ?

T g st ABC Efife f5&m AB = 6 9ft, BC = 8 &+ @9 /B = 90° 7|
B ¥ AC W &« BD ©ifat qun foigati B, C @1 D € gt ST atell 9 @i | foig
A T 38 Id R T @ret il AT Fif |

Draw a right triangle ABC in which AB = 6 cm, BC = 8 cm and ZB = 90°.
Draw BD perpendicular from B on AC and draw a circle passing through the

points B, C and D. Construct tangents from A to this circle.

11 [P.T.O.



19.

20.

21.

30/1/3

AT 5 #, PSR, RTQ AT PAQ i+ 37efq £, S
fSeh =@ wEw: 10 9|, 3 @ den

7 Tt | SR W 1 GRET J1d T |

[n = 3.14 <fifSTg]

In Fig.5, PSR, RTQ and PAQ are three
semicircles of diameters 10 ¢cm, 3 cm and

7 cm respectively. Find the perimeter of the

3/c R
shaded region. [Use m = 3.14] P 7cm QW
T

aﬁ@mﬁwmwé%amwﬁﬁw%%,aﬁm 63 df 9 J1d

i |

If the seventh term of an AP is é and its ninth term is %, find its 63 term.

20 Tt ST 3T 60° IRV ATt T 3T GTg F A I I 3T SeATE
Frai-ofta ¥ TR ST Teh I | 31 AFT H el T § Sfoh acl Wi o TR
TR 2 | AfS I8 3ig & fevareh I % Yt =T AT Tk qR % &9 A i e 2,
@ TR 6 TS J1d AT |

A solid metallic right circular cone 20 cm high and whose vertical angle is 60°,

is cut into two parts at the middle of its height by a plane parallel to its base. If

) . ) . 1 .
the frustum so obtained be drawn into a wire of diameter E cm, find the

length of the wire.
12



22,

23.

24,

Ifg fo1g A(-1, —4), B(b, 0) A C(5, -1) W&t & qM2b +c =48, @M baAA ¢ H
T F1d I |

If the points A(-1, —4), B(b, ¢) and C(5, —1) are collinear and 2b + ¢ = 4, find

the values of b and c.

Ife fog P2, 2), gt A(-2, k) A1 B(—2k, —3) ¥ THGEY §, dl k &1 I F1d
Fifsre | AP it werg +ft 31a hifsie |

If the point P(2, 2) is equidistant from the points A(-2, k) and B(-2k, —-3), find
k. Also find the length of AP.

TR A0 122 e 31, F ¥ e A

x+3 x+1

—lzi;x¢—3,—l , for x.
x+3 x+1

Solve the equation

Qg §

Section D

U7 GEIT 25 G 34 T Jeih 97 & 4 HFH 8/

Question numbers 25 to 34 carry 4 marks each.

25.

30/1/3

I o T S Y GAT 3o TF o ATHR 1 Teh o 2 oraeht Sarg 11 Tt qen
Fult B 1 Brsam 2.5 aft R | Ig e o @ Q@ W geT R | 39 A § 0.5 aft

1Y <t 4T i MATRR TMerdt STeft 15 S8 s & a1 1 % 9T STEX 3T 7947 |

F1d hIfSTe ok 38 a1 & fomat Miferat erelt 7€ | gema 3 v ey foran 6 s @
ferett art wterm el s STt S HiE Hok | I 3 39 1 9 R Yo i YesH
foran 7

13 [P.T.O.



26.

27.

28.

30/1/3

Sushant has a vessel, of the form of an inverted cone, open at the top, of height
11 cm and radius of top as 2.5 cm and is full of water. Metallic spherical balls

2
each of diameter 0.5 cm are put in the vessel due to which gth of the water in

the vessel flows out. Find how many balls were put in the vessel. Sushant made
the arrangement so that the water that flows out irrigates the flower beds. What

value has been shown by Sushant ?

T 60 H = fafeen o Rer 8w #9R & RIrgw 99 916 & 399 991 a0
SHIUT HA: 30° qAT 60° 2 | Tarfeen qeon dHAm 6 S=meai o T qen 39 = H
Tt 91 ST |

The angles of elevation and depression of the top and the bottom of a tower
from the top of a building, 60 m high, are 30° and 60° respectively. Find the
difference between the heights of the building and the tower and the distance

between them.

forg SifST for 3 o afeTa 1 Ueh TR St THageS BT 2 |

Prove that a parallelogram circumscribing a circle is a rhombus.

g P(x, 2), TgaTi A(12, 5) 1 B(4,— 3) ! THa aTct {amave & forg o7gama §
Siedm ® | x o1 91 oft Jra hifve |

Find the ratio in which the point P(x, 2) divides the line segment joining the

points A(12, 5) and B(4,— 3). Also find the value of x.

14



29.

30.

31.

32.

30/1/3

50 9Si <hl Teh GHIGR Uil o TUH 10 YT K1 AW 210 9T JAfH 15 Ui 1 AT
2565 2 | gt J1a hIfSTe |

In an AP of 50 terms, the sum of first 10 terms is 210 and the sum of its last 15
terms is 2565. Find the A.P.

ST 2.8 THY 3T =1 4.2 Tt 1t Ueh 31 ol § I 38T Seis R 361 =31 o
U IFETRR @i HE fordm Sar 21 W S 3 1 gET Sk {1 shifee |

[n=%<_'“|\aQ]

From a solid cylinder of height 2.8 cm and diameter 4.2 cm, a conical cavity of

the same height and same diameter is hollowed out. Find the total surface area

22
of the remaining solid. [Take n :7]

p % 98 A J1a hifsre fsmer fag fgema aefiertor
Qp+1)x* = (Tp + 2)x + (Tp — 3) = 0 % T 99H 2| I8 g +ft 37a hifow |

Find the value of p for which the quadratic equation

(2p+1)x2 — (7p + 2)x + (7p — 3) = 0 has equal roots. Also find these roots.

T Fa H 11 H 60 Toh hi ATk AT ATt H1E ¢ | IS 30 a0 H ° THh HIe
ATgesAl HehTeT ST &, 1 ITRIhdr J1d it foh fHepret T 1€ W 2ifehd T
U .

G) fowmgwm? (i) ol ot T B

(i) 59 9T TEAT 3 (iv) 20 ¥ HH AT T 2

Cards numbered from 11 to 60 are kept in a box. If a card is drawn at random

from the box, find the probability that the number on the drawn card is :
(1) an odd number (1))  aperfect square number

(ii1))  divisible by 5 (iv)  a prime number less than 20

15 [P.T.O.



33, fig Aifvw & o & forelt fog w et Y, wosi-fig & oM arelt e w0 ofw
B g |

Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.
34. T YTohd HEATST T A 5 T AYT Ik ek Hl AR % 2 | TEATE J1d AT |

The difference of two natural numbers is 5 and the difference of their

reciprocals is % Find the numbers.

30/1/3 16
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